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0.

414

0.

414




B L H
( _In ( _In ( _In ( _m3
0 .03 0 .53 0 .50 0. 030 5
0 .52 0 .04 0 .50 0. 000 5
0 .52 0.5%4 0 .50 0. 060 5
0 .06 3 .02 0 .50 0. 009 6
0 .03 0 .06 0 .50 0. 000 9
0 .07 3 .02 0 .50 0. 101 2
0 .53 0 .07 0 .50 0. 0312
0 .04 0 .05 0 .50 0. 0010
0 .53 0 .55 0 .50 0. 060 9
0 .01 0 .01 0 .50 0. 050 0
0 .53 0 .06 0 .50 0. 0510
0 .06 3 .02 0 .50 0. 009 6
0.51 0 .57 0 .50 0. 060 5
1.03 1.01 0 .30 0. 094 2
0 .03 0 .52 0.30 0. 030 2
0 .59 0 .53 0 .30 0. 0010
0 .53 0 .52 0.30 0. 060 2
0 .52 0 .51 0 .30 0. 010 1
0.01 0.01 0.30 0. 0300
0 .02 0 .52 0 .30 0. 050 1
21 0 .05 0 .04 0.30 0. 000 6

0. 414 4
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(
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8 3

20
a6

05

05

04
8 6

08
8 3

06

B 2

n

80

80
80
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2 78.

2 78.

2 78.
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H 1
(I C mfC m2j| ( (. m2
Gr-C-2/BO51314 0. 00| 0. 32 6 1 .49
Gr-C-2B051314 1. 05 0. 37 6 2 .62
4 .02
L 1m
(. m m2)/|m( m2
Gr-C-2B1903 0 .52 2 .85
Gr-C-2B1903 0 .52 2 .85
5.61
L 1m
(I m2)/{m( m2
Gr-C-2[B1300 0 .48 9 .42
Gr-C-2B1300 0 .48 9 .42
1884
.02 + 5.61 + 1884 = 2748 n2
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2 04.

¢ 1 50.

24




6x 2x 2

10 .x220

¢ 1 50.

2 04.
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1

0

t =m0

m

51

5

t =60

m

3

.85

t =5n® m

3

.23

t =n8 c

. 62

.20

.30

. 88

« )

24-1R-25

.28

R|d|d|d|3d|R|RBR|B|R|R

. 76

E S (

3

26

U7

M2

SD3483, D1

12

70

53

() As ()1
t =5M m

3

21

As ()13
t =3nd m

. 68

M- 3

0,n

, t

= fin (

BRIB|R|R

.70




Al
P1
A2

Al
A2

A2

Al
Al
Al
P1
A2
A2
A2
A2

Al
A2

Al

5.
5.
3.

0

NOTWEFE O~ o b

1

67+3.5645. 84+5.
8445 . 8
15+2.643835. 84+6
t =30mm
.62
23
t=p0mm
.23
t 955 ¢cm
. 6x701. 30+4063050.
. 8x3(90. 30¥0. 30
.6087.1
. 8x3(90. 30¥0. 30
. 3x200. 03
. 1x4(80 . 30¥0. 30
. 8x3(90. 30¥0. 30
.60387.1
t 93 cm
. 68
3x200. 03
(
20.20

1

t=p0mm

8

8

2

gl kN
R|lo— o
vllo © -

[EnY

ol O ©

.62
.23

33 3 3

w

11

O WEkFrr OoOWw

.85

.23

.55
.05

37

.05
.04
. 98
.05
.37

3|3 3

3

36

o o

08

. 68
.04

BRRRRRRRRR

. 62

. 82

SIS



7. (t=2cm

A2 1 . 3x200.03 = 0.04 n2
8. (t=%cm
A2 1 . 3x200.03 = 0.04 n2
9 ( )
( )
0. 240. 02 +x00..800 = 0.82n8
1
3 6 .x800. 0 5 +x10.. 306 = 1.8 n8
«C )
0. 024x%0. 8Q +x00..800 = 0. 25n8
11 (24-1%2-25H
Al (4. 67 1 +x5(.08.3390)+x00..5300 ) = 0.23 n3
Al 0.20.20 = 0.10 n3
P1 5. 8x3(90 . 3 0 +x00..800 ) = 0.81 n3
A2 (1. 320+ 3. 1x4(80+ 53.08+300.)800 ) = 0.13 n8
> = 0.28 n3
12
Al 4. 6x701. 8 83+5.%x803.98 8 +2 x 0 720 = 1.36 n2
P1 5. 8x309. 8 8 = 0.8 n2
A2 1.80.83+3.x104.88 3+ 2 x 6450 = 0.8 n2
A2 5. 8x309. 0x530 = 0.88 n?
> = 3.76 n2
13 (EY )
Al 4.67195.83 = 10.051m
P1 5.83 = 5.83m
A2 1.320+3. 9248+5. 83 = 10.730m
> = 26 .66 5m
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A1l (18 +x223 P
P1 28 2x 2
A2 (5+12x422 3)
15 (SD345, D13
A1l
HL 0. Ox4(51 8 +x228 Px 0. 9 9 Mk g /
H2l- 5. 6x42862x0. 99 Bk g/
H22- 4. 4x7282x 0. 99 Mk g/

P1
HL 0. 0x4258 2x 2x 0. 9 9 mk g/
g/

H23 5. 6x4282x 0. 99 Mk
A2
HL 0. 0x4(55 + 1 2x+22 3)0 . 9 9 Mk g /
H24- 5. 6x4282x0. 99 Fkg/
H25- 2. 9x522 2x 0. 99 Mk g/
H26- 1. 1x2282x0. 99 Mk g/
16 ( 70 )
A1l 4. 67 1 +50..808022D00

(
P1 5. 8x309. 0x012000
A2 (1. 320+ 3. 1x408.+0%012808 9 )

17 ( () As(13) ,)t=50mm
Al 4.6087.1
A2 2.6087.1

18 ( As(13),)t=30mm
Al 0 .68

19 ( , t =3)0 mm
Al 4.6087.1
A2 2.6087.1

= 18

= 92

= 16

= 4 6

= 73 kg
= 225 kg
= 178. kg
= 41 kg
= 225 kg
= 72 kg
= 225 kg
= 117. kg
= 45 kg
= 120. kg
= 2120 0
= 1186 0
= 2016 0
= 53130
= 1137n
= 9.37 n?
= 2164n2
= 0.68 n2
= 1137n
= 9.37 n?
= 2164n2
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P1
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0.
0.
0.

t=10mm

3x809. 50
6x209. 50
3x809. 50

(o] ol elNe]

OO B O©

ok w kK
RIR R R



t =m0 m m 2 .55
4cm 10cm n2 0.93
( ) n8 0.20
@1 2x54 2 2
kg 3.93 0. 680m3
Lo |y 0.82
18-84 25 n8 0.20
@ 10x01.x07 0 i
S U3 0 2| TSDR- BH
SUA30 m 1.04
m 0 .63
HL kg 0.16
n8 0.10
n2 0.20
18-8B258B n8 0. 080|4
n2 0 .50




t=50mm

0.525+x02. 825 = 2.5 m

4cm 10cm

0 . 5x205. 3x725 = 0.93 n2
( )
0. 80.50 = 0.20 n8
©l13x427
= 2
= 1.13
(m/ 40. 125+ 20. 10280 2 ®¥x027 = 0. 60n8
W = 0x003%31000 = 3.9k g

, 1. 70t/ m3

(1/ 0. 125+ 20. 10802 pPx10. %0 = 0.080
= 0.82 kg

18-8-25H
0 . 5x205. 3x705. © 3 = 0.02n8
(0. ¥B5125 +x00..23725% Jx20 . © 2 = - 0.10 On8
T/ 0. 10x200 28 2 - 0 .10 On8

0.6861n8



nm (ko NE
Piepp1Q 69 1l 2.25 17 17 |SUA3|0
1 02 02 |SUXA3|0
PL 10 x 10 80 3[ 0.97 01 0 3 |SuUu4A3|o
22
2 4 4
SUSAJOPiep| 010 3 4]kg
SUA3 0 0 4|kg
SUSAF 0P t =01 0 6]kg
@l0x1.0 L= 0.07 m/
0.07 x 2 = 1.04 m
2
(2)
L=0.1%#3 = 0.63 m
(2)
SGPALOO
0. ¥02. 2k@2m = 0.16 kg
mx 0. 1143-x02. 0Q AxB0 . 4x227 = 0. @0n8

mx 0. 1143-x02. 00Q AxB2 = 0. 01n2




18-8-25B8B

1/x2 0. 15+0x03.0¥k8. 10+800014
0. 080 4n8

0.50 n2

0. 80. 10 +x00..016
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15 71
15 4 8
15 13




Al
A2

Al
A2

A2

103

15)

:1.905+1. 6
:1.660+1. 9

15)

: 0 .x520+ 10. 9
1009

15

w w

.55
. 65

=

11

.09
.09

3|3 3

.08
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.93




0 . 5x205. 3x725 = 0.93 n2
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GRLC

10

V=0.

531 6

. 571

. 571




B L H

( _In ( _In ( _In ( _m3
1 0 .51 0 .06 0 .50 0. 050 4 1
2 0.51 0.05 0 .50 0. 080 3 1
3 0 .03 1.01 0 .50 0. 0516 1
4 0.01 0.01 0 .50 0. 050 0 1
5 0 .51 0 .05 0 .50 0. 080 3 1
6 0 .02 0.05 0 .50 0. 000 5 1
7 0 .01 0 .01 0 .50 0. 050 0 1
8 0 .52 0 .04 0 .50 0. 000 5 1
9 0 .02 0 .03 0 .50 0. 000 3 1
10 0 .52 1.00 0 .50 0. 0512 1
11 0 .03 4 .02 0 .50 0. 006 3 1
12 0.01 0 .07 0 .50 0. 050 3 1
13 0 .01 0 .07 0 .50 0. 050 3 1
14 0 .52 0 .04 0 .50 0. 000 5 1
15 0 .51 0 .08 0 .50 0. 000 6 1
16 0.01 0.05 0 .50 0. 050 2 1
17 0 .51 0 .08 0 .50 0. 000 6 1
18 0.01 0.01 0 .50 0. 050 0 1
19 0 .52 0 .52 0 .50 0. 010 3 1
20 0 .07 0 .55 0 .30 0. 061 1 1
21 0 .02 0 .03 0.30 0. 080 1 1
22 0 .02 0 .55 0 .30 0. 030 3 1
23 0 .51 0 .07 0.30 0. 020 3 1
24 0 .02 0 .06 0 .30 0. 060 3 1
25 0 .03 5 .51 0 .50 0. 0377 2
26 0.01 0.02 0 .50 0. 000 1 2
27 0 .01 1.03 0 .50 0. 050 6 2
28 0 .02 1.07 0 .50 0. 0017 2
29 0 .52 0 .57 0 .50 0. 040 9 2
30 0 .02 0 .04 0 .50 0. 000 4 2
31 0 .52 0 .06 0 .50 0. 050 7 2
32 0 .03 5 .51 0 .50 0. 037 7 2
33 0 .02 1.06 0 .50 0. 001 6 2
34 0.01 3 .09 0 .50 0. 0519 2
35 0 .07 0 .03 0.30 0. 030 6 2
36 0 .07 0 .07 0 .30 0. 071 4 2
37|1A 1 0 .57 0 .51 0.30 0. 040 3
38|A 1 0 .57 0 .51 0 .30 0. 040 3
39]A 1 1 .00 0 .03 0 .50 0. 0015
40|1A 1 0.05 0 .03 0 .50 0. 050 7
411A 1 0 .07 0 .03 0 .50 0. 0510
42|1A' 1 0 .07 0 .03 0 .50 0. 0510




B L H

(_n (_in (_n (_m3
43|1P 1 0.01 0 .01 0 .01 0. 000 1
441P 1 0 .03 0 .03 0 .50 0. 050 4
45|1P 1 0 .03 0 .03 0 .30 0. 070 2
46|P 1 0 .52 0 .02 0.30 0. 050 1
47|A 2 0.05 0 .03 0 .50 0. 050 7
48|A 2 0 .08 0 .03 0 .50 0. 001 2
49|A 2 0 .03 0.01 0 .50 0. 050 1
50]A 2 0 .05 0 .03 0 .50 0. 050 7

0. 5716
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Gr-C-2B-5 2406
Gr-C-2B-5 2400

H 0.33
Gr-C-2B-5 2406
Gr-C-2B-5 2600




L w
( [ kg/im( kg
Gr - C- 2B[-5203 6 .20 7450
Gr - C- 2B[-5203 6 .20 7450
2406 14 80. 1
Gr - C-2B[-5300 7 .06 9808
Gr - C-2B[-5100 7 .06 8306]|13. 00
2400 18 20. 4
3300 4
L
(_n
Gr - C- 2 120
Gr - C- 2B[-5203
2406
Gr - C-2B[-5300
Gr - C-2B[-5300

2600
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4 88.

¢ 1 50.

56




14 2x2

12 .x228 2

¢ 1 50.

4 88.

56
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49

49

49

49




H 1
(I C mfC m2j| ( (. m
Gr-C-2B051314 0. 07 0. 84 7 2 .44
Gr-C-2B051314 0. 07 0. 84 7 2 .44
4 .88
L 1m
( m | ( m2/{m( m2
L 1m
C mf{(C m2/imC m2
.88 - + - = 4 .88
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231




1148

1178

2317




10

C ) n3 0.90

3cm ne 2.84

3cm 6c¢cm ne 1.33

n3 0.9

( ) n3 0.81

24-1H”-25 n3 0 .43

n2 2 .82

ES( m 8 .72
M2 18
SD348, D1 kg 3 95.

0 8 .82

70




Al

Al

A2

A2

2.

0.

Al
A2

Al
A2

3.

( )
1 0 .x330. 8x307.80

(3cm)

o

.x330. 8 3
.%x340. 4 3

(@)

(3cm 6cm)

: 0.x340. 2 3

( )

48 . 01 +x10..803

C )
092x%Q. 08 +x10..803

(24-12-25H

8x903.)0 6

1 (0.293x8.
© (0.293%0. 2903.)0 6

: 3. 80 7 0x649

4. 4087 0x649

( ES ))

837+%4. 43

.29

[EnY

.51
.33

n3

o O

.33

.09

. 38

.61
.81

B[R B

o

[EnY

.43

. 60
.22

33 &

.82

.72

B[R B
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10

11

Al
A2

N

[
Xl on

X

NN
X
NN

(SD345, D13

o

. 0x614%8 2x 2x 0. 9 9 Bk g/
3.6x328¥2x0. 99 mk g/

o

. 0x614% 2x 2x 0. 99 @Mk g/
. 2x32%2x 0. 99 mk g/

N

( 70 )

: 3. 8 0 7 0x011000

. 4 8 7 0x011000

= 60

= 68

= 18

= 38 kg
= 145 kg
= 43 kg
= 169. kg
= 395 kg
= 3.48 ¢
= 4 .44 0
= 8.8 ¢
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4300 = 4300n2

¢ 18
:11. 2362 = 2294 m
© 3. 844.23 = 8.61 m
> = 3056 m
( )
L=3203 x22 = 4
Al A2 L =07 0 = 3
A2 L =09 5 = 1
185
2x 2 = 4
4 m Ss )
11. 2131. 236. 84 .23 = 3056 m
( )
11. 2131 . 236. 84 .23 = 3056 m
586320 x2 2 = 4
( )
@100, t=a040. ( O*/24-0. 0 5x"02.)8 3x 2 = 0. Q00N



10 ( W=113DPkg/ m3

(mm/ 40. 180202+ 0. 0502270

T/4x0. 0420~ 2802 = 0.00168
W = 0. 0x01110390n&3g / m = 1.32 kg
11 ( )

(t/ 40. 18020M/+40. 05022 %0@x)2 = 0.080n8



t=3cm ng 0 .06
¢ 1 0x03 2 4
kg 2.62l 0. 0o0m3
1O g 0.22
18-84 25 8 0.30
2 0.81
SUS3048B0A 4| TSDR- BH

SUSA3O0 m 3.04




1 ( t = 3)cm
0.50. 380 = 0.06 n2
2. @l0x324
= 4
3. = 1.13
(m/ 40. 10@xr20. 08802 Bx144 = 0. 20ns
W = 0x002%31000 = 2 .62k g
4. : 1. 70t/ m3
(m/ 40. 10ar260. 08802pPx210. ¥ 0 = 0.0Q@0¢
= 0.22 kg
5. 18-8-25H
0.50.80.0838 = 0. 03n8
( 0.x100. 1 0 +x00..32801)/%20 . ® 4 = - 0.10 On8
m/ 40 . 0 8x90".28 2 = - 0.10 On8
> = 0.862n8

(0.50xR2x0B8084 = 0. 67n8



nm (kg NE
Piep3 B 8 4 1| 4 .55 38 3 8|S UA3|[0
1 01 01 |SUXA3|0
PL 10 x 10 80 3[ 0.97 01 0 3 [SUHA3|0
42
4 1 68.
SUSA3OPiep| 84 1 52]kg
SUA3 0 0 4|kg
SUSAF 0P t =01 1 2lkg
80A L= 0.58 m/
0.58 x 4 = 3.04 m
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t =4n® m

(D3

420

t = 03 8mm

(20

420




(13),t=40mm

4204 4204n2

(20), 88 Mmm

4204 4204n2



10

t =mQ nm 1211
t =m0 me 1026, |4

ng 4 .01

ng 3108

ng 3108

cwom 3 563
M3 563
M-30,m =BPm 5636




( t =4DPmm

Al
A2
( t =4DPmm
1026 4
102 x0640
+330.] 4 04
+400|]06.06| 13 0.58| 56
+460]06.00 12 1.52| 75
+520]06.00| 19 1.55] 93
+580]5 .05/ 10 1.54] 94
3 18.
(13),t=40mm
Al 2030
A2 3606
(M-30),t=1200mm
Al 2030
A2 3606
( , t =3)0 mm
Al 2030
A2 3606

3.30 m
9.80 m

1211m

1026 42

4 .01 n8

318. n8

318. n8

20 3 0n2
360 6n?

56 3 6n2

On?2
6n?

ajw N
o|o O
WO w

6n2

20 30n2
3 6 0 6n?
56 3 6n2



10

18-8B40H n3 0 .17

n2 .08
SD345mD16ky 62
96830 8




(18-8)40BB

0.%6. 770/ 20. 480.03 = 0. 83
0.80.80. 80 = - 0. 32
1/x20. 87T /x2 0. 115+0 x0 303 = - 0.00
>SWw 0.83- 0.32- 0.00 = 0.17 n8
(0. 70% 3+ 0 7x525 4 0 .03 = 2 .08 n2

SD346, D1

W 1.56kxg0. 58 = 6 .42 kg

96830 N = 8



10

.69




. 80.

. 80.

30

30

0.06 n2

0.63 n?

0.69 n2
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20

10
GRLC 10| V=0. 3376
n3 . 327

« ) n8 . 327
SD3459 Dlilkg 1286




B L H

( _In ( _In ( _In ( _m3

0 .03 6 .08 0 .50 0. 100 2
0 .03 6 .08 0 .50 0. 100 2
0.02 0.04 0 .50 0. 000 4
0 .02 0 .02 0 .50 0. 000 2
0.5%4 2.01 0 .50 0. 0347
0 .54 0 .05 0 .50 0. 0311
0.02 0 .03 0 .50 0. 000 3
0 .51 0 .51 0 .50 0. 010 1
0 .93 1.01 0 .50 0. 0521
0 .93 0 .55 0 .50 0. 0710
0 .93 0 .05 0 .50 0. 080 9
0 .02 1 .00 0 .50 0. 0010
0.02 0.51 0 .50 0. 050 1
0 .04 2 .05 0 .50 0. 0050

0. 327 6




D19( D345

G 4 x 6. 00 x 2.085 6 03. kg

@ 4 x 6. 00 x 2.085 6 03. kg

126 .kg
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10

150

N
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